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ofssiemiusgiest L lgwsd  eTas aflssisiLgmiest  ena Qi
et &7 SreRATE vt & granw
Roll No. of Candidate Candidate’s Signature

ssiamin b SeteEe @G se JErsierika ﬁ'ﬂ'aﬁéﬁrl Instructions to the Candidates

1. olemgsnomeng  oIeMSOSIGIY  ougeled L efengl.  Smendgy  eleiewlusmisesh @& Gureim el el

Sllgliuent WGeobw gl Uiy suniresesi.
SRA- GUETT GREeRT & &0 7 § | T 3r3a Rt T feior @arer weat & 3R oX fevar seam|
The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. gGanm slemald@n (TSSH SAovg oo augallsd) QambSsiulpeisr LG almi sl Sistaug (A) (B) (C) mnmhmua
(D) Wlsd gaoreug eam wihpCn surmig. oGy e QuImdsuma elmimu Lo CHIHASHHS oL sseils
Gy QFuiw CoussihLd.

VeI aEeTvS e & WY el A 8l W16 3R / 31 3idhst Aot 9 3o Rwew (1), (&), (@) AR () v are &1 3979 & horer
Teh §1 FET & 3K Ha 3UFd Sea h e R S|

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (A), (B),
(C) and (D). Only one among them is correct and most appropriate answer shall be selected.

3. gaQarm &futer sl d@n 3 wHIQUsTSH apRiElnbl. 6s FULSHN QLR St aloLé@n 1 wuSiausss
GOMBSLILHLD.
T TEGITSS TR & FET St & [T AT 37 — et § 3R Wl et 3ok & foIw v aordia 3k @y g1
All objective type questions carry equal marks of THREE for a correct answer and One negative mark will be deducted
for each wrong answer.

4. qn GCooeldg un aloLss QoM Gsusmd oig souptam elmLwrstn SmSLELD.
TE TR & AT 3@ 3eax &t 9 3HT el Sea} ATAT S|
Multiple answers for a question will be regarded as a wrong answer.

5. slwLamns Gisg &L o aloissrei (OMR sheet) gaim o ms@mag sSalunss SubL.
3o &t & Tore waft 3re=ar el oY Ueh 31Tt 3NTHBNR 3eek I Wale fohaT T B

A separate OMR answer sheet is provided to all candidates for answering.

| QsrLiddmu smLd LsssHn unjssayh/ 3ifdA 56 # ST / Continued in last page
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10.

1.

soilisra ggaY Td TR T . A
DRIVER-CUM-OPERATOR ‘A’
6. dmLgsmein @Il psien GPlysme sumIS) Lgssah. Briss NedFlutmg aMEsnHED  alelenw ol

ASPesm  QEThSESII Heter S.LSH0 Beo/snmmn By moymiw b spasiCusmsiamed (Ball Point Pen) @iigsis
ST L Gouami(pLh.

HTAAR 97 W T T et I eqeqas 961 R 77 |/ fOws 3k #98 s9ged ser & R &= &

fav g diar wEe 3 (G AelrFel) F1 g

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on OMR sheet and
marking the most appropriate answer.

LM 10511 urrri—égm@. B m_ﬁlms'lmﬂugjngr'r alemgsist  Osrely Giilel sommLw  doLssteald  asnes
Qasmp saEill heter UL sS0 @iy Geiw Coustiph. sSafenes 2 Kemg alnLSsner OFe06nssTasLILb L.

=T RT3 T SIfRelt 3R Fo) & et W T ar o ar #Y a1 2t o € Rfgaa §1 5 3f@er 59 3 3vasiR e & afvg w1 fod
AR SR 9 & e 1| VAT F I TR Ieal T T HedeheT 18] 2T ST |

Question booklets have been marked with A or B or C or D or E on the right side top corner, which is mandatory to be
written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

Qps Cxialkd Cassms ol Dopddownsts pessugsmn 0snhyssturdand, o remg Coisms @uaimasny
slures LWL SSNCS  (PSSWLTETSTELM. o EIEEMEE Egsmorar  alamassl  CHIHms  eimmasnsd  esisnem
demesmae s almiwsiSs ol p el sgeore slamdsemad el wsidsss.

grerier T0ETr I1fey & 3R aReEar W &R & §, f 8ff 3maes v a5 Ageaqel § o aemesra wonndt 9 & 3r0er @9 &7
SR Y| ST el 39 T SEeT HReher § SR T a1 o HT| 3T 3 WA 0 ST Fehe! & 3 16 3 et Farel T
A9 3T Tl o |

Although the test stresses on accuracy more than speed, it is important for you to use your time as effectively as possible.

Do not waste time on questions, which are too difficult for you. You can go on to other questions and come back to the
difficult ones later.

@ilysmen awslimiiugHss semsseiikd sl @b aupisin poing. Qsnoss SasHs oIS LTE).
afe; 3T g1 ol YRR # SUCsE FATT R FHear w1 AT ST Hehell &1 58 forw Jremer efte 78t & Srwsh)

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

TusSEScsTn] upbs U el ssnels CusugSiss o sisn gmeniiu'L ugslime Sfsg g ol gsroflame
Coie] Sy smet@iiuein Qery s 6l ISlma alsimmiusmies Shss uFd moubgd QsTeiasoli.

TR T8 FaATeet gl 0, NTHAIR 3ok YRt &1 I & St Foieet § B18 3R 7T TR 3eer gt e r afy
AT G ey 31 o |

On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark at the top and hand over the original
OMR Answer Sheet to the invigilator and retain the duplicate copy.

Caie] wybsiea (1) auds Cotaydster mopadflp (Ysiuilh elgw Goodod) wign Q) oo ool gse
QB QueioLun Caia Sy smismimeaiin  guumLSSCUmIbY.  abs SPBmoln  QeaeljmaLun  Csiay
aUSuaITEs SHEELET 6ThSSHE AF0NSHLTE.

YT FHTe et 0¥ (1) Forfrer wdver wier o forer oX wiek Rraemmam aram § 3t (2) 3R Seaw o sredere F i § st R
st R F i ssar wrr Sy onw |

At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it and (2) OMR Answer Sheet should
be handed over to the invigilator and shall not be carried by the candidate under any circumstances.

Fekkkk
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o walCrrsdne 36 &5 GussHd @B 110 WBLLT Herd Gomew Omieesig, 132 WBLLT
BET(sTeN @(h LTSS SL&S elelaleney GBI SLEGL?

(A)  11.0 efpmgsseir (B) 13.2 efpmgaeir

(C)  24.2 alpmomeir (D) 272.7 alpmgseir

110 ez et 3, St 36 Theniiex ufq @ it =1er ¥ 9 W &, Toha! & # 132 e |l To7 T #T
STt 82

(A)  11.0¥He (B) 13.2%%e

(C) 2429 (D) 272.7 ¥&e

How long does a train of 110 metre long, running at a speed of 36 Km per hour take to cross a
bridge of 132 metre long?

(A)  11.0 seconds (B) 13.2 seconds
(C) 24.2 seconds (D) 272.7 seconds

eaEuded 1/9-a1 WL ereTen?
9 T 1/9 FIAT §?

What is 1/9 of 97
A 19 (B) 0
) 1 (D) 2

0.20% &5 gowmer etend 61g?

i G T 0.20% F SRR &2

Which fraction is equal to 0.20%?

A) 1/20 (B) 1/40
(C) 1/50 (D) 1/500

@A eNauQeiel sLymiEd 2 hgio eemmsid / FHRY AeeT HiFcaw / ISRO Propulsion Complex - 2018 3
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61601 HEWISBIED Gl B QFHTLIFAUID 7,10,13,... aaUSET DIBSHS 6T
3RO HEr 7,10,13, ... T IFTAT IS &

The next term of the Arithmetic Progression 7,10,13,... is
A) 4 (B) 16
<c 17 (D) 20

9 GF.8 gy CarewiL Camensdar GsmeeTeane)

(A) 3241 Qza8° (B) 108 Q&.5°
(C) 9721 @s.18° (D) 6481 Gz.8°
9 T 7. T & IelT T 3T §

(A) 324w cm® (B) 108w cm®
(C) 972mem?® (D) 6487 cm®
The Volume of the sphere of radius 9 cm is

(A)  324mem® (B) 108w cm®
(¢) 972mem® (D) 648mcm®

2,6,18,..... e1&i3 QUBSGSH OSTLIFAWIST GUTE aldlsd
SRR AT 2,6,18, .. T AT 1 §

The common ratio of the Geometric Progression 2,6,18,... is

(A) 4 B) 3

c 2 D) 12
16x%y*Z® —ait quitda clpeold

16x°y*z® T FaTHeT &

The square root of 16x%y*z% is

A)  axy*Z (B) 4xy*z*
(C) 4xy’Z D) 4x‘y*

@nHw ellanQeush SyymiE 2 B eueTmaLd / S Algs HiFcadd / ISRO Propulsion Complex - 2018
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10.

1+2+43+......... 100 eueny GRLSHEHT Fnl BSHOBTNHS
1+2+3+.. ¥ 100 d HT J9THA §

The sum of 1+2+3+.... upto 100 is
(A) 5000 (B) 4000
(C) 5050 (D) 4050

90°—&@ GuBulL Gsmerd

A GomGsTawD (B) elfiGsmewiid

(C) OQomiBsmenid (D) GuBnsaviLeuBBIeT dHa|LIe0med
90° ¥ 3112 & SHIUT I gl ST §

(A)  gABIOT (B) 31f&em piuT

(C) THSRIT (D) IHIwd & IS g

An angle more than 90° is called

(A)  Acute angle (B) Obtuse angle

(C) Rightangle (D) None of the above

4 Q.18 @y@ﬁ) 7 Q518 2 _wgp OsmesiL eullL 2 (henenullel Glsmeienere)

(A) 264 Qg (B) 176 Qg
(C) 352 Gs.18° (D) 88 Gg.18°

4 {4, Fear 3R 7 Q.. FATS & Gy SoleT 1 I §

(A) 264cm® (B) 176 cm®
(C) 352cm® (D) 88cm®
Volume of a circular cylinder with radius 4 cm and height 7 cm is
(A) 264 cm® (B) 176 cm®
(C) 352cm® (D) 88cm®

@hHu eNenQeue syymilEs 2 Haio euemmald / FAIY Age HiFcerdd / ISRO Propulsion Complex - 2018
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11.

12.

13.

0.25 wpmib 1.85—61 GLIHSSMBLIGVET
0.25 3{IX 1.85 T I[UT=Aher R E

Product of 0.25 and 1.85 is equal to
(A)  0.004625 (B) 4.625
(C) 0.04625 (D) 0.4625

0.050—a1 QUTE&LD
0.050 ST g &

Square of 0.050 is
(A) 0.0025 (B) 0.025
(G 25 (D) 0.00025

el ubsmiseT 10 &5 WBEID GuEWL ussnser 4 0F.5 QETatiL SmansIsHaE Ghpee)
A) 140818 v (B) 24 Gsg.8
(C) 280#.B (D) 180Gs.8

AT TGS, Foraehr ofelt 7ot 10 .7, 3R BIET o7ard 4 G &, T aRAT Y
(A) 14T (B) 247

(C) 28¥.F. (D) 18 J#r.

Perimeter of a parallelogram whose longer sides are 10 cm and shorter sides are 4 cm is

(A) 14cm (B) 24cm
(C) 28cm (D) 18cm

@hHw eNauQeel SLrmiEd 2 HEIo eueTtai / FAN AlGe HiFcaad / ISRO Propulsion Complex - 2018
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14.

18

16.

P FLUSS (WP&ECaTamSHa LSS 20% GMBESILLLTE oG LUTLILIET6] (G enBalgsi
o3 B D

aﬁwmﬂgﬁsga%gmﬁzo%ﬁw&rm%,mwm FAE ST
If the side of an equilateral triangle is decreased by 20%, its area is decreased by

A) 42% (B) 36%

(C) 34% (D) 20%

0,0), 2,0) wB@ID (0,2) SYFWABDBE CHTE(PMDTHENTHS CBTEHIL (W&CaTaS S LIFLiLens)
A 1ear ows (B) 2esary ows
(C) 4eary owe (D) 8ear owe

Frager 7 aarher aram §, foremenT fderias (0,0), (2,0) 31K (0,2) ¥

"(A) 1 sq. unit (B) 2sq. unit
(C) 4 sq. unit (D) 8sq. unit
Area of the triangle whose vertices are (0,0), (2,0) and (0,2)

(A)  1sqg.unit (B) 2sq. unit
(C) 4 sq. unit (D) 8sq. unit

T Crowenié@Gd FLlomeig)

& R MBI
T radian is equal to
(A) 90° (B) 180°
(©) 270° (D) 360°

@hFw eNwnQaied spymiiss 2 pgin eenmaid / FARY A HiFcaad / ISRO Propulsion Complex - 2018 7
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17,

18.

18,

8 Q&8 b 2 Ge1f 2wy 2 LW @T 2 HmeT 2 GESIULE 6 5.5 o wypomLw @Bk
Gl 2_(HUTSSILLLE. @b Ssmss Sa(Llgssal.

(A) 606518 (B) 8Gsg.5
(C) 50688 (D) 4 Qs
T SoleT ToraehT TR T 8 F&eiex 3k Fars 2 dduliex &, & e a1 6 A F415 &

a@mwﬁmm% | afifa%ﬁ?mmqwmé
(A) 6H.AL (B) 8.
(C) 5T (D) 43T

A cylinder with base radius of 8 cm and height 2 cm is melted to form a cone of height 6 cm.
Find the radius of the cone

(A) 6cm (B) 8cm

(C) 5cm (D) 4cm

QM BEISHE Ese Oprms oBCHTHID 4% o WTERE. ASH SHOLTMSW LSS CHTMmS
50000 ai&IBIE SYeHiB IGBEHEGL L DiH! cTaETeeTEGD?

Teh T T ITEIET & T 4% ¢ AT &1 TS SHRT T 37TeTEr 50000 &, AT aF |l 916 g giait

The population of a town increases every year by 4%. [f its present population is 50000, then
after two years it will be

(A) 53900 (B) 54080
(C) 54000 (D) 54900
2% it &Ly

2° T AT F R E

The value of 2° is equal to
A) 0 B) 2
©€) - D) 1

@iHu eNgnQeael 2yymiEs 2 Hgi auemmsL / FH Alae Hieceaw / ISRO Propulsion Complex - 2018 8
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20. &M g6l 30 BLiLRiseflled 120 &S MIHmsd GLEADE. oiGar syref Goush ereen?
(A) 60 &@.8/wewf) (B) 120 &.is/wexh
(C) 240 &.18/wemh (D) Cubsai_ agieblsbenso

T& R 30 fAsTe # 120 .77 BT gl ar aXell §1 R 1 37 o1er Fram &2

(A) 60 fr.a. /ger (B) 120 for.aY. / ger

(C) 240 fw.#r. /ger (D) 3uderd # A HIg gl

A car covers a distance of 120 km in 30 minutes. What is the average speed of the car?
(A) 60 km/hr (B) 120 km/hr

(C) 240 km/hr (D) None of the above

21. 9w anfldr g LwefLete] 20 &SuS/e0LLi. 500 &5 b uuEfss aHSman eILLT g

Caemaulpn?

(A) 20 eSrLir (B) 25 eSiLir

(C) 50 edliLir (D) Gubsswi_ sga|sdamen

Teh SR T Srofel T [A1gersT] 20 T, / ez §1 500 Freiefiex B gl o ey & v Sieter &
fordeT olex T 3raeehar grefi? |

(A) 20%leY (B) 25@X

(C) 50¢ex (D) 3uded & H FIS AL

Diesel consumption [mileage] of a car is 20 km/litre. How many litres of Diesel is required to

travel 500 km distance?
(A) 20 litre (B) 25 litre
(C) 50 litre (D) None of the above

@hHw ellevrQeuell oyymildd 2 Hgin euarmaLd / FHII AlgeT hIFCaw / ISRO Propulsion Complex - 2018 9
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22.

23.

Arauorssiiul L QU Cyreiw sutw (Feniowled efleumu)) EQUBBTCOTET SHEVeN6.

(A)
(B)
(©)

1558 601 LBBID F&HCH6
F&H8HeT ommid LGrmGLesT
UGymBuest ommid 1iuy GLest
Nugl GLesr ommid GuieiGLest

=7 Toeor g St @

D)

#Ie i T
T T T

i s SR
S AR

LPG is a mixture of

(A)
(B)
(C)
(D)

Methane and Ethane
Ethane and Propane
Propane and Butane

Butane and Pentane

- umufleo-air ellglwmengl

(A) Memeowimes SIIPSSHHD, LB Siene] QaliusFBe CrT alalsdHsld BmHaELID.

(B) dleweowmen SiW0HS5Ie0, LG Seme] QeuliusSBEes smedd aldlssdlsd BGhEHGLD.
(C) Memeowmanr QauiLgHeD, SIRSHSHD UGL SleTels@ G aldlsseld BmeEid.

(D) Memeowimen GauliLghEed, DRSS LG SieTeysG&s SHmesd) aldssdlsd BmsE LD
CIDERETE T

(A) TR T I, A, TOHT 5 STIHATIITAT

(B) TR =& I, A, ATYHT & SiienaTaTdt

(C) TOR AU R, ST, ST o6 SHHHATTATA

(D)

FOR QT X, 1, I o S ATt

Boyle’s law is

(A)
(B)
(©)
(D)

At constant Pressure, Volume is directly proportional to Temperature
At constant Pressure, Volume is inversely proportional to Temperature
At constant Temperature, Pressure is directly proportional to Volume
At constant Temperature, Pressure is inversely proportional to Volume

Qi eanQeaa syymilss 2 hgio euemsid / FAN Alge HiFca=d / ISRO Propulsion Complex - 2018
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24,

25.

26.

27,

Baupmiet e1g SUuBHles Qsmeiend galgur eumuy?

SN 9 i AT 87

Which is the flammable gas?

(A N - (B) O
€ Ar (D) H

greuoréasiul L QulGrmelwr eumyy (LPG)

(A)  apopel_ds SeTOTaS

(B) smopal. BGstaig

(C) smpopeiLd sawraBst BCnsTasT Hmen
(D)  GuBeBuICLambper agab Esdame

T TS g

A) A

(B) T & T

(C)  =aTg T gaT | 7 T AL AT 7 & Toahl
(D) SRR ¥ & S TR

LPGis

(A)  Heavier than air

(B) Lighter than air

(C)  Neither heavier nor lighter than air
(D)  None of the above

BeuBpieT 61! LobGHeumuy?

st ey e T 22

Which is the inert gas? (

A O (B) Ch
(C) Brn (D) Ar

By GLeir—51 Gouglulwed @PilisF QFmed

g 5 forg T g g

The chemical formula for Butane is

(A)  CsHg (B)  CsHio
(C) CiH (D) CzHe

QipHu eNewmQeial pymilE 2 HgIn euerTsLd / FEIN Alge Hiecaad / ISRO Propulsion Complex - 2018
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3BaY TG TR T

DRIVER-CUM-OPERATOR ‘A’ A

28.

29,

30:

QLb-681 el Fwimenrg

(A) Peveowren QauliugsHed WSS D WOGCH L SABGS Hmevdh aldlssdle EhHED
(B) Meweowrer GeuliLigdlsd Waianpssd Ba@am LsAng CoT aldasslsd Smeeh
(C) Peweownenr QauliugHed @SS OGCET LGB BGF Fowrs S HeED

(D) GCuBeAIC Labser agen Bedmev

i T S

(A) TR qroAT Ix, SreedT, aRT ¥ Sfa AT

(B)  TER qTUHTT Ux, AVeedT, GTT ¥ STASRATIITAr

(C)  TOR AT U, dleedT, °xT & aXa<

(D) 3uddd § ¥ FIS LT

Ohms law is

(A) At constant Temperature, Voltage is inversely proportional to Current

(B) At constant Temperature, Voltage is directly proportional to Current

(C) At constant Temperature, Voltage is equal to Current

(D)

None of the above

Wsie BGsoFTer auTU

(A) By (B)  susdngein
(C) am yeer (D)  aufeSwib
oY gehr AT g

(A)  ATEEIST (B)  3itefrerer
(C) grsgeiA (D) &feTA
The lightest gas is

(A)  Nitrogen (B) Oxygen
(C) Hydrogen (D) Helium

(A)

CFangdlBriged Hifladr OILTHH o FFHzHle0 BHIBGLD.

R STel T Heled TR &
Density of water is maximum at
0°C (B) 4°C
15°C (D) 100°C

©

@ efewmQeushl SLyMiES 2 B0 eueTTaLd / SN Alge HiFcaad / ISRO Propulsion Complex - 2018
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31.

32.

33.

GST-ows GRhsGh CemBemmLT

(A)  oreE wppb efpueer e
(B) &rd@ woBmid supmssd eufl
(C) sarsG wBmId Csmeussr sufl
(D) grd@ wopw seflu euf
S 3t g

(A) AT AR foshr &

(B)  HTel 3 3Tqfel

(C) AT AR Far &

(D)  ATeT 3N BT T

GST stands for

(A) Goods and Sales Tax

(B) Goods and Supply Tax
(C) Goods and Services Tax

(D)

Goods and Simple Tax

pileir QarHBlensy ST

ST HIHYAR__ &
Boiling point of water is
(A) 80°C (B) 100K
(C) 373K (D) 100°F

SILTHS eTeniLBougl
(A) dlewp X &mevld
(C) peop ~upw o6

(D)

LG SieTe] + Blens
Plevp +  &STevlb

3 . )
(A)  GTHA X GAT (B) 3T + GeIHTA
(C) &cTHT + 3adeT (D) EUHT + GHT

Density is
(A) Mass x Time
(C) Mass + Volume

(B)
(D)

Volume + Mass
Mass + Time

@hHu eNanQeual oM 2 HEI0 eueTTsld / FAIU Alge Hiecara / ISRO Propulsion Complex - 2018
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34.

35.

CNG eaeniu@eus

(A) Opmssworer Bubmas eflaimuy
(B) Dipunp Qupms aflemuy

(C)  swssiu’L Bupms efloimuy
D) GolprLiuL Supms efeaumy
RIR GRS

()  defimels i

(B) T wipfen

(C)  wifed i o

(D)  <fifcre wrepferen S

CNG is

(A)  Compact Natural Gas

(B)  Colourless Natural Gas

(C)  Compressed Natural Gas

(D)

Cooled Natural Gas

WSS Femwwiaeveisr o et BHilar QsraBlensy

(A)
B)

100°C
100°C-85 oigswrs

(C) 100°C-@¢s5 Gmpairs

(D) CuBeMrirL eage)bmen

YR FF K 3G, T a0k o
(A) 100°C

(B) 100°C & 31&%

(C) 100°C ¥ &

(D)  3ULFTH A HIg G

Inside the pressure cooker, water boils at

(A)
B)
(©)
(D)

100°C

More than 100°C
Less than 100°C
None of the above
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36. —40°C QueangdBy -6 &wwrar LTTGafl. SisTey slere?
Tohdet f33ll BReTgEe & SRIeR - 40 3 s &2
How many degree Fahrenheit is equal to — 40 degree Centigrade?
(A =40 (B) +32
(C) +40 (D) +140

37. 1 L (h&&F FloTaig
(A) 10000 Bsbed 0L LiT (B) 1000 1eoed 69t Lit
(C) 0.1 Weved &S LiT (D) 0.01 flebed eILiT
1ol R E
(A) 10000 THelreilex (B) 1000 fAeleilex
(C) 0.1 A elreliex (D) 0.01 fAelreiex
1 litre is equal to
(A) 10000 ml (B) 1000 ml
() 01mil (D) 0.01ml

38.  wasglar Sl geoe
(A) B (B) som@eolb
(C) OQoeang BT (D) eng
SISTS & T3S, I §
(A) #rex (B) =
(C) e (D) e
S.1 unit of length
(A) Metre (B) Inch
(C) Centimetre (D) Foot

39. oopLygale oem Bl
ATSEISTe T WHATVTH oA §
Atomic mass of Nitrogen
A 7 (B) 14
(¢) 8 (D) 16
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40.

41.

42.

10° __ ees @BuLiu@GaEns

A) oL (B) &Gy
(C) e (D) Guwasr
10° ST HET ST &

(A) 3 (B) HISHI
(C) 3w (D) &am
10° is called

(A)  Deci (B) Micro
(C) Giga (D) Mega

QUTSSID UGG SITHMmS SieTdall LWLSLED Smal

(A)  erOUIGLmMBLLiT (B) @GLmbL LT

(C)  =smevauBemiBL Lt (D) oG GymbLLir
AEATU AT P AS G A YOI AT &

(A)  TTeEATH (B) 3MEERT

() deaardiex (D) TFCHATIr

The instrument which measures the distance travelled by a vehicle is
(A)  Speedometer (B) Odometer

(C) Galvanometer (D) Spectrometer

auraalisdslled eTHBHemen BIBHIGET 2 6lTemen?

oty # forae Gor Ao 82

How many colours are present in Rainbow?

A 5 (B) 6
© 7 (D) 4
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43.

44,

45.

Maraumueunmien el PIN' aeuger sfwmer effleurssid?

o4 & leT &7 'PIN' T HE) RAEaAR &

Which of the following is the right expansion of ‘PIN’?

(A)  Population Information Number
(B)  Postal Index Number
(C)  Poor Identification Notice

(D)  Physical Internal Note

2 edlel HslEUflw GUHTHISL 60

(A udls (B)
(C) @bz ’ (D)
g =T qad 5T AER &

(A)  wend (B)
() fe ' (D)
The largest ocean in the world is

(A) Pacific (B)
(C) Indian (D)

ST I98

DT TTLI19&

3MTehiesh
3feThieH

Arctic

Antarctic

Wett oFTEFSemwsH SalTds @l LWaTLURSHSS Snlguigl.

(A)  oyssl el (B)
(C) piur 2_epsein (D)

s iU’ L smelssiT

GomeemiL 6re06VTLD

T & e &1 Uehet & ToIT, S/ SEAAT T Febel &

(A)  ThaT FI Felh (B)
(C) ISR g&dm=t (D)
To prevent electric shock, one can use

(A)  Wooden plank (B)
(C)  Rubber gloves (D)

fegaifee 3ok
ERECTRGE

Insulated tools
All the above
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46.

47.

48.

CO; -aflet &L augeuld

(A) o2 Gos oEDHFE B) &L amy

(C) o et ualsasl iy (D) GipsesiL s1giaL060men
CO, & 3 &7 Hl & ATH G AT AT 8

A) o1 3ffFarss (B) owIT

C) g ® (D) 3UYFT H F HIS AE
Solid form of CO, is known as

(A)  Metal oxide (B) Solid gas

(C) Dryice (D) None of the above

BleupBéssHmall Lgle Gauud s@mal

(A)  OsiCuraym (B)  SFerdGomedlymi
(C)  eMGaralym (D)  mg@uimalym
Teh 3USHTOT ST $TahT T TS et &

(A) e (B) erherE

(C) 3mIfam®s (D) sfEgEms
An instrument that records earthquake is

(A)  Thermograph (B) Seismograph
(C)  Ergograph (D) Ediograph

Wergsevallsh 2_6ier SIO6VGHESN6H HETETTIIL] TNl DieTEHSs 2 _Habd Bmel.

(A)  ows&GrmbLLT (B) oelwmsi i

(C) OmirombrLir (D) ewamr GymbLLir

3 A 3151 & [ARISE TeTca 1 AT & TIT 39197 a1 ST1eT aTell 3Uhior &
(A)  TEATATIY (B) UawTaeTATYY

(C)  argaTdY ' (D) grsgEe

An instrument used to measure the specific gravity of acid in a battery is
(A)  Hygrometer (B) Anemometer

(C) Thermometer (D) Hydrometer
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49,

50.

51.

SIWHSHSBHH DG

(A) vy (B) &G
(C)  umervmed (D)  Buyl e
CTd Y GhTS &

(A) U3s (B) feralr
(C) UrEhel (D) =gco
Unit of pressure is

(A)  Pound (B) Kilo
(C) Pascal (D) Newton
O Bymed eTEhAlewt eI6TeYD  SIBWLILIBLD.

A) owsHs eflubmed sehdlsr
B) myrell erghdleir

(C)  &LTIOUTS efiubmpsd e16hdeir
(D)  elewgwmesl eighdler

OCIel SoleT ol 5 1T F Y ST ST &
(A)  HUS SaeleT gotet

(B) oY gofeT

(C) e saeret otet

(D) XA gofel

The petrol engine is also known as
(A)  Compression Ignition Engine
(B) Steam Engine

(C)  Spark Ignition Engine

(D)  Turbine Engine

6 sehlamen ebp Bewsoulsd meubHBHES CHTCWTEOLL. LwSTLGaEDE?

A)  eLs B) @eofgms

(C) Cameawrar GeulEemsouisd (D) CGupssiiL agafsmen
AT ST 32T SofeT T @AY

@A) T (B) st

(C)  difed AgATT T (D) 33U H A HIS wET
The purpose of the thermostat is to keep the engine

(A)  Hot (B) Cool

(C) Atdesired temperature (D) None of the above
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52.

53.

mE med HmL GUTEHINITS 61Har s CFwsdHuEESms
(A) ' Uer sespmisefsd

(B) pei sosyhissisd

(C) eawvILGs FoEBIRIG6TIN

(D) @Liuss Fésymiseied

BT o AR A R HTOIT BT &

(A) e aTer g
(B) 3TV aTel it
(C)  ardarer dfgt
(D) T4 arer afgat

Hand brake usually operates on
(A) Rearwheels

(B)  Front wheels

(C) Right wheels

(D) Leftwheels

Gom_ Lt euengsefed &L BLLGHSH T QFwBLTh

(A) arsasda eflmramer WL BULGSHS

(B) eehdlen Cousgsmes SLOULGHS WHDID RWHEGLESS
(C) o fsalL aMCunmsr Hossabms almenalLbHS
(D) GupsetiL aHeLlle0MmsD

3iTeTAETS e & ITdeR &l HI &,

(A)  ITET & Tl bl AAT A

(B)  SofaT & Tl bl Toifya 3R faafda &<

(C) 34T & TAacaadr # 3if¥eas werra sTel

(D) 3 H A IS AL

The function of governor in automobile is to

(A)  Limit the vehicle speed

(B)  Control and regulate the engine speed

(C)  Effect maximum fuel economy
(D)  None of the above
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54.

55.

DRIVER-CUM-OPERATOR ‘A’

@G Grlomr evenguies erehdlaflsd, GLILGFmed/0&6d eIGIOITS OMBBLOMLAMEI?
(A)  ®riuer BBID aBLFegs

(B)  smituer Gurembsmed BRI HaBLFes

(C)  sfwileveuru) wB@Id e Fegeit

(D)  sfuwndevsuruy wibgid Byred

T ATCIAETS T SofeT &, UeTer / Satel H oRafdad gr ST g
(A)  wEa 3R gBse

(B) e AABIFASS 3R BEge

(C)  IesT STE3iTeFaTSS 3R gregtele

(D)  IeieT STE3iTerATSs 3R AT

In an automobile engine, petrol / diesel is converted into

(A)  Carbon and Hydrogen

(B)  Carbon monoxide and Hydrogen

(C)  Carbon dioxide and Hydrogen
(D)  Carbon dioxide and Steam

Gom’Lnir euemngsefled iPlitey o ( Qamsir smelulsr LwsLITG
(A) upBmed 2 I Osmsiaug
(B) auppowas 5655 Asps Gsiss
C) ouppowey Caiefui@es
D)  uppowe SPEIUGSEIG!
TETd 3792TYeR T YT TeIH S 7 & foT fRar orar g
(A)  FoIT P N ey
(B) oIl ol TreleT 31T Taa<or svgey
(C)  Foft & Tovefer aeet
D) FerAIRE
Shock absorber is used in automobiles for
(A)  Absorbing the energy
B)  Dampening and dissipating the energy

(
(C) Releasing the energy
(D)  Increasing the energy
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56. Please give me a of paper.
(A) piece (B) peace
(C) piese (D) pease
57. | applied for a course my English knowledge.
(A)  improve (B) improving
(C) toimprove . (D) forimprove
58. ‘Continent’ ereti3 QamedeNs@ll QUTHSSWTE (PaHICFTEmBMUIF BFiTeHaLD.

'Continent’ U5 % fIT Ueh 3UYerc 3UGI WIS

Add a suitable prefix to the word ‘Continent’

(A) Un (B) Pre
(C) Sub (D) Post
59. ‘Punish’ e@ip Gamevaus@ll Qurmdsomer LBCFTEmamus Barésa.

'Punish' 21eg & TeIT 3Uged Yo ¥ il

Attach a suitable suffix to the word ‘Punish’
(A) ness B) ify
(©) ful (D) ment

60. ‘City’ ei@i3 GQamededlett LsienomWG BHTHOHBHSLD.
'City' 2Iec; T Sgadl &I ToT
Choose the plural form of the word ‘City’
(A)  Cities (B) Citys
(C) Cityies (D) City
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 19.08.2018 for Selection to the Post of
Driver-cum-Operator ‘A’— Post Code: 016
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
Qn.No. | Ans.Key ', Qn.No. Ans Key
01 C 31 C
02 C 32 C
03 D 33 G
04 B 34 C
05 C 35 B
06 B 36 A
07 A ar B
08 C 38 A
09 B 39 B
10 C 40 C
11 D 41 B
12 A 42 C
13 C 43 B
14 B 44 A
15 B 45 D
16 B 46 Cc
17 B 47 B
18 B 48 D
19 D 49 C
20 C 50 Cc
21 B 51 C
22 C &2 A
23 D 53 B
24 D 54 D
25 A 55 B
26 D 56 A
27 B 57 C
28 B 58 C
29 C 59 D
30 B 60 A




